SAP ABAP table LTAK {WM transfer order header}

LTAK-BWART = T156- BWART

70,1 }_L_TéK -DRUKZ = T329F-DRUKZ
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T156

MANDT [CLNT (3)]

BWART [CHAR (3)]

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

T308

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

BETYP [CHAR (1)]

T311

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

REFNR [CHAR (10)]

T329F

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

DRUKZ [CHAR (2)]

T333

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

BWLVS [NUMC (3)]

T333A

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

TRART [CHAR (1)]

T339

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

AUSFB [CHAR (4)]




